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[tem Unit (n=a"7, 210) (n=5)
Red blood cells % 10%/mm’ 1019 = 42.6 062 + 25.7
Hematocrit ) 54.5 = 2.06 51.3 = 1.65
@| Hemoglobin g/dL 17.4 = 0.64 16.1 = 0. 41
=8| White blood cells x10°/mm’ 33.0 = 8.96 54.3 + 13.18
Platelet % 10%/mm’ 58.3 = 5. 45 92.1 = 12.04
MCV fL 53.5 = 1.01 53.3 = 1.33
MCH pEg 17.1 = 0.23 16.8 = 0.37
MCHC g/dL 32.0 £ 0.31 31.5 = 0.45
Red blood cells x 10%/mm’ 980 = 77.0 881 =+ 48.3
Hematocrit % 2.6 = 3.79 47.7 = 2.54
@ | Hemoglobin g/dL 17.2 = 1.35 15.4 £ 0.77
=| White blood cells  x10%/mm’ 25.4 + 567 49.7 + 6.25
8| Platelet x10'm’| 643 = 7.14 90.2 + 800
MCV fL 53.7 = 0.96 54,2 + 0.55
MCH pE 17.5 = 0.23 17.5 = 0.15
MCHC g/dL 32.7 = 0.60 32.3 + 0.23
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Item Unit (n=a"7, 210) (n=5)
AST (GOT) u/L 1292 + 420.2 77 = 12.4
ALT (GPT) u/L 659 =+ 204.6 53 = 9.9
Alkal ine phosphatase u/L 2453 += 622.9 722 %= 109.4
Triglyceride mg/dL B7T =+ 30.2 49 + 5 8
Albumin g/dL 3.45 = 0.181 418 = 0.241
Total protein g/dL 4.82 = 0.241 581 = 0.232
A/G 2.52 = 0.130 2.60 =+ 0.351
Glucose mg,/dL 459 + 118.8 182 = 20.5
2 1 Phospholipid mg,/dL 106 = 8.1 111 = 7.1
= | Total bilirubin mg,/dL 0.15 =+ 0.014 0.11 = 0.016
Blood urea nitrogen mg,/dL 63.8 = 9.65 21.9 =+ 1.85
Total cholesterol mg,/dL 62 + 3.1 67 = 4.3
Calcium mg,/dL 9.2 + 0.20 10.3 = 0.28
[norganic phosphorus mg,/dL 7.4 + 1.53 8.0 = 0.51
Creatinine mg,/dL 0.19 = 0.020 0.25 += 0.023
Sodium mEq,/L 131.4 = 2.17 139.3 += 1.42
Potassium mEq/L 6. 63 + 0 515 556 =+ 0.490
Chloride mEqg/L 97.4 + 1.54 102.8 = 1.27
AST (GOT) u/L 1986 -+ 983 8 110 = 40.0
ALT (GPT) u/L 940 + 484.6 52 = 17.1
Alkal ine phosphatase u/L 3199 + 1072.6 473 + 50.8
Triglyceride mg,/dL 67 = 40.9 24 = 7.5
Albumin g/dL 3.17 = 0.432 4.39 = 0.064
Total protein g/dL 4,97 =+ 0.600 6.18 += 0.075
A/G 1.77 = 0.143 2.47 % 0.207
= Glucose mg,/dL 497 = 131.7 154 = 4.6
E Phospholipid mg,/dL 125 = 21.7 164 + 8. 4
B | Total bilirubin mg/dL 0.25 = 0.103 0.15 = 0.019
Blood urea nitrogen mg,/dL 83.9 = 28.15 19.9 = 1.45
Total cholesterol mg,/dL 15 = 18.7 103 = 7.9
Calcium mg,/dL 9.4 = 0.65 1004 = 0.18
Inorganic phosphorus mg,/dL 7.4 = 0.85 7.1 + 0.46
Creatinine mg,/dL 0.23 = 0.075 0.25 = 0.009
Sodium mEq/L 133.8 = 4.12 141.8 = 0.53
Potassium mEq/L 6.35 = 0.976 508 = 0.274
Chloride mEq/L 96.0 += 3.49 106.3 + 0.93
STZiE 5.4 BE (115858 1= 3%, Values are mean=S.D.
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Absolute organ weight
Body weight = 147. 4 == 9.9 235. 8 == 10. 5
Brain B 1. 684 == 0O. 083 1. 788 == 0. 014
Heart B 0. 522 == 0, 058 0. 761 == 0.053
Lung =4 0. 768 == 0.035 0. 960 == 0. 047
Kidney (L) = 0,778 =« 0,057 Q. 786 = 0. 056
(R} 3 0. 749 == 0. 063 0. 733 == 0. 022
Splean 24 0,312 == 0.043 0. 547 == 0. 038
Liver I 5. B33 == 0. 569 6. 548 == 0.543
Testis (L) E 1. 123 == 0. 167 1. 420 == 0. 113
(R} B 1. 070 == 0. 1556 1.378 == 0.121
Adrenal (L e 23.7 == 2.2 23.2 == 2.5
(R} mg 21.0 == 1.4 21.2 == 2.8
Thymus i 0. 090 = 0O.047 0. 288 = 0048
Pituitary g 6.0 == 0.6 80 == 1.2
Thyroid gland e 12.0 = 1.4 18.8 %= 4.1
0 Salivary gland (L) E 0. 198 == 0.021 0. 214 = 0. 019
(R g 0,193 == 0.021 0.219 == 0.012
; Pancreas B 0. 610 == 0. 0680 0. 933 == 0. 101
= Relative organ weight
Brain E% 1. 145 == Q. 047 Q. 759 == 0. 031
Heart 2% 0. 354 == 0O.024 0. 323 == 0.022
Lurg E% 0. 522 = 0O 017 0. 407 = 0. 010
Kidnay (L) E% 0. 528 = 0.020 0. 333 = 0. 020
(R E% 0. 6508 == 0.021 0.311 == 0O, 007
Splaan E% 0. 211 == 0.017 0. 232 == 0.011
Liwer E% 3.953 == 0187 2.774 = 0. 143
Teatis (L) E% 0. 762 = 0. 1056 0. 603 == 0. 056
(R} E% Q. 726 == 0. 100 0. 585 = 0. 059
Adrenal (L) mE% 16.1 == 1.3 9.9 == 1.4
(R mE% 14. 3 == 0.8 9.0 = 1.4
Thymus E% 0. 060 == 0.027 0,122 == 0.017
Pituitary mE% 4.1 == 0. 4 2.4 == 0.4
Thyroid gland miE% 8.1 == 0.7 8.0 =+ 1.7
Salivary gland (L) E% 0. 135 == 0.015 0. 091 =+ 0O 007
(R 2% 0. 132 == 0.017 0. 003 == 0. 006
Pancreas E% 0.414 == 0.034 0. 395 == 0, 029
Absolute organ weight
Body weight = 1165.0 == 13. 8 166.3 == 6.3
Brain e 1. 573 == 0. 078 1. 671 == 0. 054
Heart = 0. 419 = 0. 050 0. 645 == 0. 027
Lung B 0. 660 == 0O.0&61 0. 739 == 0. 034
Kidney (L} E Q. 6861 == 0O0.078 0. 5639 == 0. 046
(R =3 0. 643 == 0. 067 0.517 == 0. 029
Splean = 0. 247 —+ O.070 0. 411 == 0 022
Liveaer g 5. 130 == 0. 397 4, 062 = 0, 133
Owvary (L) me 23.0 = 6.1 31.4 == 5.8
(R me 207 == 5.7 20.8 = 8.3
Uterus = 0. 125 =+« 0. 060 0. 235 =« 0. 036
Adrenal (L) mg 26.4 == 2.6 24,2 == 3.4
(R T 23.1 == 2.1 21.8 == 3.1
Thymus e 0. 073 == 0.0 0. 263 == 0, 026
Pituitary miE G.4 = 1.8 11.2 == 0.8
o Thyroid gland e 10.5 == 1.6 14. 0 == 1.7
- Balivary gland L) = 0.141 = 0,010 0. 154 == 0.014
o (R} B Q. 144 == 0. 016 0,156 = 0. 008
E Pancreas = 0. 590 == 0. 134 0. 715 == 0. 093
9 lRelative organ weight
' Brain 2% 1. 380 == 0. 123 1. 070 = 0. 044
Heart E% 0. 365 = 0.018 0. 348 == 0. 007
Lurg &% 0.576 =« 0.038 0.473 x= 0.014
Kidney (L} E% 0. 583 == 0. 095 0. 344 == 0. 020
(RD E% 0. 567 == 0.087 0. 331 = 0. 007
Splean 2% 0. 212 == 0.039 0.263 == 0.017
Liver &% 4. 515 == 0.573 2. 601 = 0O 084
Ovary (L) mE% 19.9 =+ 4. 3 2000 == 3.1
(RD mEs 17.8 = 3.1 19.0 == 4.6
Uterus 2% 0. 106 = 0.033 0. 151 == 0. 025
Adrenal (L) mE% 23.2 = 2.9 15 4 =+ 1.7
(R} mg% 20,2 == 2 2 12.9 == 1.5
Thymus =% Q. 059 = 0,044 0.168 == 0. 014
FPituitary mg% 5 5 == 1.0 7.2 &= 0,7
Thyroid gland mE% 9.2 = 1.6 8.9 = 0. 9
Salivary gland (L) 2% 0. 124 == 0.010 0. 099 = 0 008
(R E% Q126 == O.014 0. 100 == 0. 005
Pancreas % 0. 510 == 0. 076 0. 459 4+ 0 074
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STZix 548 (110 #keS) I2BE,

50



